ANASF

e Phonetics - 7th Class
e Syllable Structure in English-Lets study it

Ly U gea- 45 b 3adll 8 S 5l adaie @

e What Does Syllabification of a Word Mean?
daldl) ki ay 13a @

-Words can be cut up into units called syllables.
A gal) adaliall e o g ) LK) adad (Say @
- Humans seem to need syllables as a way of segmenting the stream of
speech and giving it a rhythm of strong and weak beats, as we hear in
Music.
Leadany 9 Al Jane 45 303 48y plal Ao S 455 gual) alaliall dals 3 580 O sans @
(st sall (8 pans LaS Adpmin Gl 5 (5 58 £ LAY
- Syllables exist only to make speech easier for the brain to process.
£ leally dallaal) 3 Jgd 22N Jaad L 2a 63 pdaliall @
- A word contains at least one syllable.
JY) e aal g adaia o 5 a3 30K o

e Most speakers of English ...
e Al ) A5l B pfiaatial) aliea o

e ...have no trouble dividing a word up into its component syllables.
45 gaal) adaliall o &5 A el AalSl) apnli 8 A0S0 agadl Gl o
e Sometimes how a particular word is divided might vary from one
individual to another, but a division is always easy and always
possible.
Ly gt ansil) €05 ¢ AY 358 (e CAlAT Liine Tl apuadld 2y o€ (al) (any 8 @
Laila (S g Jes
e Here are some words divided into their component syllables (a period
IS used to mark the end of a syllable):
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Al Apdiay 5yl 20303 ) Led 0 oSl A gamn adalie ) doniial) UL (mmy Uin @
(i
e tomato = to.ma.to
window = win.dow
e (Some people might put some of the periods in different places in
this word).

(RSl Aalide (SLY Ol yib (andd | graza g 28 i) (ae)) @

e Syllables and their partsiijal g aaliall

e The parts are onset and rhyme; within the rhyme we find
the nucleus and coda.
Ailadl 5 5) sl an AN e AN 5 Zladl & 6l 3aY) e
e Not all syllables have all parts; the smallest possible syllable contains
a nucleus only.
Lad sl g o (s sing raal adaiall o) jal Ll 45 suall adaliall S ol @
e * A syllable may or may not have an onset and a coda.
Aala s A L s Y Sl (5S0 a8 adaial) o

e Onset (O)4ldl

e Onset: the beginning sounds of the syllable; the ones preceding the
nucleus.
35l s Al 5 ¢ ) saal adala 4l 4ol @
e These are always consonants in English.
Ay pulasyl dall) ddsSlucag sl a5 0
e The nucleus is a vowel in most cases, although the consonants [ r ],
[1].,[ m], [n], and the velar nasal (the 'ng' sound) can also be the
nucleus of a syllable.

([a] [d] [ua] LSkl Cas all () (e a2 I -Vl alanal dle (o a A 3153 o
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B i) adaial S5 L) (88 gaa ) GBla ) 05Ss O s - <[]
¢ [n the following words, the onset is in bold; the rest underlined.

o ains 48l Ll e(3aladl ga Alad) AUl LK b o
read —flop -strap

e If a word contains more than one syllable, each
syllable will have the usual syllable parts:

J s Lale ch\g@wﬂi&séﬂaﬂw\ 13) o

: adaall £ ja adaa

win.dow
to.ma.to
pre.pos.te.rous
fun.da.men.tal

Rhyme (R)424) (R)

e Rhyme (or rime): the rest of the syllable, after the onset (the
underlined portions of the words above).

(ode] sl (e o) 3al e o) ead) axy cadatall (e 85 La o (5_yll) 4488 o
e The rhyme can also be divided up:

SCand (685 AEN Sy Loagl 5 @
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Nucleus (N)&) & (N)

e Nucleus is the core or essential part of a syllable.
ahill (5 55 i sl b ¢ 3a a3l e
e A nucleus must be present in order for a syllable to be
present.
C Bl ahaia pian Jal e Al 0 5 Ol ang 3150 o
* In English and most other languages, most syllable nuclei are
vowels.
Alall Cag a3 55 & adalall alama ¢ Wy e 545 laiWI GGUN 4 @
* The English liquids [ r 1] and the nasals [ m n ] can be the
nuclei of syllables under certain conditions. [ r ] can be a nucleus
as easily as a vowel, in any position: the words 'bird’, have [ r ]
as the nucleus; in other words, there is no vowel in the
pronunciation of these syllables, even though they have one in
the spelling.
ehlad) e 355 0 5o o oS [0 sale] Nasals s [RL] & alasy) Jil gl @
1 (b Al o ad A sy 81530 055 O S [ ] A gl b (8
Ale Cajaaa 0 W e AT Bl g 3l 53 [ ] Lgpal ¢ 1) salall" AalS 228
slagd) g3 sl g Lal o ae 1 e dg all adalial) (3la
[brd][ | ] and the nasals [ m n ] become syllable nuclei when
they follow an alveolar consonant in the last syllable of a word.
This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal
pronunciations of 'button’, 'bottle’, 'bottom'.
el (8 daiul) (34 5wt Ladie adadal) 31 53 musli [y o] Nasalss [1] @
delual aa Lew ) (il 5 (oalall o pl& WY 8 Chasy AU YY)
il ala 3 ¢ G el Qilie el Gl 4 e | 2S)




ANASF

The Core Syllables il ghaiall 4yl

e The core syllable is made up of a Nucleus preceded by an Onset:
A Ay 31 53 (e (S Apilia) plaiall @

SN

O(nset) N(ucleus)

- Some languages only have CV syllables.
Laith A5 gacn dalie Lol Clalll (mmy @
- More commonly, languages allow for syllables of greater complexity.
il (o 2 el 435 paall adaliall o Gl e gl KV o
- The core syllable is, however, found in every language.
A I an s il adaiddl Gl aas @
- The fact that CV syllables are cross-linguistically attested offers an
interesting parallel with their invariable occurrence in early child
language.
) sl Alaia D 3 yita - (a5 yal) Aaian Ly sad 48 jide 45 peall adaliall (o d38al) @
(Jakll Aall Sae g 8 ol 5l Gl G gas ae

* Linguists often use tree diagrams to illustrate syllable structure. 'Flop’,
for example, would look like this (the word appears in IPA symbols, not
English spelling). 's' = 'syllable’; 'O = 'onset’; 'R"' = 'rhyme’; 'N' =
'nucleus'; 'C' ='coda’.
JEal Jas (o= JSuell 2 5l a1 4000 @ s )l By G alll aadiin e Llle 5 @
oo (el SN0 G s (PA e (8 ARSI jedal) oaa Jin gadi ¢ Jpanill "
DS el = N Al = R A = O pdatall =

e The syllable node at the top of the tree branches into Onset and
Rhyme; the Onset node branches because it contains two
consonants, [f]and [ 1].
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Bakall & 5 585 (Alal) g o) I SV lac] e s slall o 3all i 303 adaidl e
[0] 5 [3] ASLall oy sall (pe ) e (5 5ty 43Y Ay
e The Rhyme node branches because this syllable has both a nucleus
and a coda.
258 58 53 Lagaal adaiall 138 (Y & 5 jall saic 46l3) o
0)
/
O
/\
||
|

\
R
\
C
|
[f 1 ap

/
N
|
a

]

e Steps to determine the diagram:
sl Al Laadl &) ghad @

A.Determine the nucleus (N) &) sill a3
B.Add Rhyme ( R) on the ordinate of the nucleus 3 sl (3wt 4.alal) 43l
C.Determine the onset (O) and the coda (C).aUall 5 ol s

e The syllable structure analysis of the words 'read’, 'flop’, 'strap' and
'‘window' are as follows (IPA symbols are used to show the sounds in
the word/syllable):

aladinl ah) b LS o AL 5" day b daart! ¢f3e) 8 el Jlay akaiall Sa o
(adiall / AN 3 ) pal) LY IPA el
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read = one syllable

window = 2 syllables

Onset=1[r] First

Rhyme=[id] (within the rhyme:) oncet w1

ucleus =11 RNh:;‘:u;[[' I"]]

Coda =[d] Coda =[n]

f|0p = one Sy”able Second syllable: [ d
Onset=[fl]

Rhyme :[ap] Nucleus=[ o]

Nucleus - [ a] (This syllable has no coda)
Coda = [p]

1 Notice [11aY

a. If a syllable has the coda, it is called as closed syllable

Example : cap, sit, man

Jay - ol - A - ) s e -3l adaia (st ¢l 58 4ol alaiall (S 13 o
b. If a syllable doesn’t have the coda it is called as open syllable.

Example : he, she, me

s st U Jus e mogite alaia adle (3l o S Al adaddl) (IS 1Y) @

e L iquids and nasals as syllable nuclei

e The English liquids [ r 1] and the nasals [ m n ] can be the nuclei of
syllables under certain conditions. [ r ] can be a nucleus as easily as a
vowel, in any position: the words 'bird’, ‘word', 'her', 'fur’, the first
syllable of 'perceive’ and 'surname’ and the final syllables of 'mother’,
‘actor' (in casual pronunciation) all have [ r ] as the nucleus; in other
words, there is no vowel in the pronunciation of these syllables, even

though they have one in the spelling.

gl Jh 8 adaliall a8l 65 ()5S o (S [0 o] Nasals s [RL] ) sedl 4 5u0aiy) o
¢ " sl s lalSl . i ga gl B elle (o aS Al g 315 (950 O (S [] Adma
(e 4ilgil A seall adaliall 5 Ml 51 gaal” (ga ¥ acdall (B (el 8 el o S
Al Cijaaa oV s AT 8l s )5 [ L] e US (ol haill ) 'delall
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slagdl A aalgehd cilS g s dd pall adalaal) oda (e (Glaill
e [ 1] and the nasals [ m n ] become syllable nuclei when they follow an
alveolar consonant in the last syllable of a word. This happens in the
relaxed or casual rather than very formal articulation of the word.
Compare casual vs. formal pronunciations of 'button’, 'bottle’, ‘bottom'.
ALl ) il b il (381 5 o Laie odaall 8153 s [ o] Nasals s [1] @
Jand' dRala ) ¢ e el dilie i el
e \When one of these sounds is a syllable nucleus, this is shown in
transcription by putting a very short vertical line under the IPA symbol
[r I mn].
gqﬁsh@z}@}&@d\&)@}cs\)ﬂ\@ﬁa\}a“wo& sl dic o
.[Oed o] IPA Sl Gaad o Hual

e Summary of the elements of a phonological system...
The phonological system of a language includes
various units plus patterns which are used to combine the units into
larger units.
ALYl adling Gilas 5 Jady 431l S gall Qi) 5 S pall allaill palic e jaga @
ST las g A las gl el andis il g 3la )
e The units of a phonological system are:
& isall pllaill Clas s @

1. Features: aspects or characteristics of a speech sound that arise from the
way the sound is articulated or the way it sounds to the ear.
s g Ggall 3yl e Ly dalu AalSH 5 jaae pailadll ol il gall 1 uall o
Y Gl aal 48y 5l
'Voicing' is a feature that varies according to whether or not the vocal cords
vibrate during the articulation of a sound; the sound [ s ] is voiceless, but the
sound [ z ] is voiced, for example.
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el 4 guall Juadl 358 Y o) J 18853 Jaall alids 5 land) (e dans o2 " Liigua” o

JUa) Jas

Other features include 'manner’, or what sort of gesture or position is used to
make a consonant sound (a 'stop' involves blocking the airstream completely
for a fraction of a second, as for [p], while a 'fricative' involves creating a
narrow opening through which air escapes, as for [ f ].
' ¢ ) Sl ¢ gall Jrad aading i e g 300 sl MAE Hla" (5 AN Gl el Jadi @

"é\iﬂ;\" A BN ‘_g ‘[p] Al Ll Al ya ;)Aj Lalad ;\j@\ ol aal ng.L-;.u

[F]0 LS ¢ DA (o ol sgll o pusi o (auim A (5 5kt

There are also suprasegmental features, which are 'overlaid' on syllables or

words.

LS i aalidl) e "AS) e 4 Sl s csuprasegmental edte Liagl @llia 5 o
One such feature is stress, known outside linguistics as ‘where the accent is
in a word'. In 'potato’, the stress falls on the second syllable; in '‘promise’ on

the first.

" Al dagd Gt laldll anly Lala Ay el 5 ¢ slea¥) 33a) 0 8 Saall o34 Jia @
Y M g b U adaiall e oy Jaaall g o alaUa |

2. segments:
a segment is a speech sound such as[ m ]
or [ 1]. Speech sounds are made by putting
several features together. [ m ], for
example, is created by vibrating the vocal
cords (feature: voiced), closing the mouth
at the lips (feature: bilabial), and lowering
the soft palate so that air can escape
through the nose (feature: nasal).
2SI Ol gaal ] s [a] Fie Al AalS) ¢ Undl
Lo Gl jpall (o daall pida s 83 ke e Ao guas

3. syllables:

a syllable is a rhythmic unit of
speech. Syllables exist to
make the speech stream easier
for the human mind to
process. A syllable comprises
one or more segments;
segments are the building
blocks for syllables. Details on
the syllable are found below.

(e dae\ly Bas g oo adl) adaiall
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j\j&i@@g&\@@&\mu& ([M]
8 olalil) d).c\} c( L;aya 5)4.45\) MM\ d\.t;j\
U‘ S ¢l gl @; 3l ) uas;) c(u...us..d\ .o‘)..yd\)
) (qj\i\ ;'é)'...ud\) cai¥) 3k e e
These three gestures occur simultaneously.
The result is a voiced bilabial nasal, [ m ].
Thus, segments are units that are built up
from features; features are the building
blocks for segments.
(Spa oA Aagiill g - 2 g 8 gy GO lall) o2a
O iy Cilaa g o il [a] A sl
22l A il ol jaall g el aall

adll

Mtsfu\dm\ux;d@_u
daula) adaliall o coladl) - claal)
aiall e i) Juualis pLuial

.o\_'mi

4. \Words: words are made of syllables.

ablial (e ALl piad ; Gl o

e The patterns or rule systems of a phonological system include: [ [
(i ga il Jadli 43 gl Ll gl blaY) o

1. Phonotactics, also known as sequence
constraints.

3 538l Sl ady Liay) gyl
These are restrictions on the number and
type of segments that can combine to
form syllables and words; they vary
greatly from one language to another.
i O Sy il g 6 g oz e 25l L o2

Al (e ) S DA Calias  clalS 5 adalia JC)

s A S
In English, for example, a word may
begin with up to three consonants, but no
more than three.

2. phonological processes,
including coarticulation
processes, are
modifications of the
feature structure of a
sound that occur for one
of two reasons:

Gllee Jadd ¢4l gpall lilaal)
e OOaxt o ( alll Jiadall
1Y sy ¢ gall JSa 55— U<l
to make sounds that are
near each other more alike,

0]




ANASF

A gt 28 (U Jae e 245 julasyl 4zl 8
Gl 2 Y Rl S Cooal 26 L) Jeay Lo s
AN
If a word does begin with three
consonants, the first will always be [ s ],
the second must be chosen from among
the voiceless stops [ p t k ] and the third
from among the liquids [ | r ] or
glides [ wy ]
OsSin gV Sl Ca g ja AN KN iy 13)
D il g5 Lagd o LA camy SN 5 ([ ] Ladla
SV [R L] il saall (g0 SN 5 [ K T P] isam
Thus we get words such as 'squeeze’ [ s k
w i z ] in English, but not words such as [
pstap].
|Wk3] "LM"QLMLASQM\::AA Jia
tsp] Jie ClalS G Sy ¢y jalaiy) 42l i |7
[pa

thus make articulation
easier (assimilation), or to
make sounds more
different from each other
(for instance, aspiration
makes voiceless stops such
as[ p Jand[ k ] more
different from voiced ones
suchas[ b Jand[ g ].
Leazs (e Al G puall Jaad
Jaxgesl g aa o ST (anl
ji ‘(k._\L’—.)iu\}“) n=ill d@_..n\ CLEM
(JEall Jan o) -l Lgiany
O E3ER) iS5 [] 5 [oa] !
5[] die e Cuel Al &l
1zl

e Draw, the syllable structure of the following words:

HAll) cilal<lt J38l) adadal) JSaa ai i o

apron AL ye even Eilaal depend | iz
basic il began il hotel B
begin s
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e Exercise: Analyzing the syllable structure of English words
A ey LSl Jadll) adaall JSoa Jala 10 53 @

e Using the models on the 'Syllable structure in English' page for the
words 'read’, 'flop', and '‘window', analyze the following words into

their syllable structure. (See Slide 14)

3e) 8 LSl e dadoal "a 50GY) Bl il ddaial) JSa e g3l Aasiu
(14 dapall i) | dadl ahaie JSa 3 b Le Jalaty ¢ 5386 1y o L

(1) Write the word with periods between
the syllables; use IPA symbols - Ex.
'baby' = [ be.bi ]
aladinl 5 cadaliall G )y ae ASH ALK o
[be.bi] ="' Jie — IPA el
(2) Listand identify the parts of each
syllable
L;Eﬂ\tkid\ ;‘}i‘;sdﬁjd‘)ui °
EX. : 'boondocks' = [ bun.daks ]
First syllable: [ bun ]
Onset [b]
Rhyme [ un ]
Nucleus [ u ]
Coda [n]
Second syllable: [ daks ]
Onset [d]
Rhyme [ aks ]
Nucleus [ a ]
Coda [ks]

Remember that diphthongs
count as single vowel
segments.

Here are your words:

(1) playdough
(2) thanks

(3) nondescript (take your
time!)

(4) toys

(5) straw

(6) plastic
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